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HOME SCIENCE

Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)

1.

marks. All questions are compulsory.

The primary reason for parboiling is
(A) Whiten the rice

(B) Enhance cooking time

(C) Conserve nutrients

(D) To favour geletinisation

Recommendations for visible dietary
fat intake for an adult Indian woman
(moderate worker) as suggested by
ICMR is

(A) 25 g per day

(B) 20 g per day

(C) 30 g per day

(D) 40 g per day

Which of the following equipment is
used for keeping cooked food warm
in a cafeteria ?

(A) Recaud

(B) Bain Marie

(C) Food Trolley

(D) Smorgashord

Which of the following is not a
theory of the origin of clothing ?

(A) Protection (B) Tattooing
(C) Adornment (D) Modesty

Which of the following is not a
stretch fibre ?
(A) Neoprene
(C) Elastane

(B) Spandex
(D) Viscose

The gas that is found in compressor
of refrigerator is
(A) Freon 10
(C) Freon12

(B) Freon1l
(D) Freon 13

Developmental period from birth to 8
to 12 months known as

(A) Toddler (B) Infancy
(C) Teen (D) Peer

Paper-I1

8.

10.

11.

12.

The target group for National Literacy
Mission is

(A) Below 15 years

(B) 35-44 years

(C) 15-35years

(D) 15-65 years

IS an intense educational
activity ~ for  motivating  and
mobilizing a community to action.
(A) Brainstorming
(B) Colloquium
(C) Campaign
(D) Symposium

Which distribution should be used in
order to find out where certain scores
rank relative to all others :

(A) Frequency Polygon

(B) Probability Distribution

(C) Grouped Frequency Distribution
(D) Cumulative Frequency

Distribution

Which of the two nutrients are
responsible for green ring formation

in boiled egg ?

l. Iron

Il.  Protein

I1l.  Calcium

IV. Sulphur

V. Copper

Codes :

(A) Iland Il (B) IHlandV
(C) land IV (D) HandV

Which of the following foods are rich
in omega 3 fatty acids ?

. Lard II. Butter

1. Fatty fish IV. Olive oil

V. Mustard seeds VI. Walnuts

Codes :

(A) 111,111 (B) I, V, VI

(C) V, VLI (D) VLI IV
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13.

14.

15.

16.

Which of the following terms are
associated with sanitation :

. JT

Il. MBO

1. HACCP

IV. BARS

V. GHP

(A) land Il (B) MHandIV
(C) HlandV (D) IVandl

Principles in textile design are :

l. Proportion

I1. Balance

I1l.  Light

IVV. Harmony

V. Rhythm

Codes :

(A) L1, 11 1V are correct.
(B) I, 1,1V, V are correct.
(C) 1, 11,1V, V are correct.
(D) I, 1, 11, 1V are correct.

Electronic and  microprocessor

controlled alternatives in weaving

have resulted in

l. Better and assured quality
fabrics

Il.  High noise and vibration

I1l.  Higher rate of production

IV. Consistency and reliable
performance

Codes :

(A) I, 11'and 111 are correct.

(B) I, 1l and IV are correct.

(C) I, Iland IV are correct.

(D) I, 1l and IV are correct.

Anthropometric is concerned with
structural dimensions which are ;

. Weight

1. Body position

I1l.  Height

IV. Waist circumference

V. Body posture

Codes :
(A) 11,1 @) LI,V
C) 11,1V (D) I 1,V
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17.

18.

19.

20.

To meet the individual differences
the curriculum should be :
l. Lengthy I.

I11.  Informal V.
Codes :

(A) land Il are correct.
(B) Il and Il are correct.
(C) I, Iland IV are correct.
(D) Il and IV are correct.

Formal
Flexible

Which of the following aspects are
closely related to Programme
Planning ?

l. Plan of work

Il.  Calender of work

I1l.  Supervision

IV. Coordination

Codes :

(A) land Il are correct.

(B) Iland Il are correct.

(C) Hland IV are correct.

(D) land IV are correct.

Credibility in communication means :
I.  Trustworthiness

II.  Competence
I1l.  Complete
IV. Profitable
Codes :

(A) land Il are correct.
(B) Il and Il are correct.
(C) Mland 1V are correct.
(D) Iand Il are correct.

Power of statistical test of a mean
depends on
l. Particular H, that is assumed

true if Ho is false.

I1.  Value of o chosen

I1l.  Size of sample

IV. Variability of the population
under study.

Codes :

A &Il

B) LIN&IV
C) &l

(D) All of the above
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14.

15.
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21.

22.

23.

24,

Assertion (A) : Gluten is formed
when flour is mixed with water
and kneaded to make a dough.

Reason (R) : It helps in the
browning of chappati when
cooked by dry heat.

Codes :

(A) (A)istrue and (R) is false.

(B) Both (A) and (R) are false.

(C) (A)isfalse and (R) is true.

(D) Both (A) and (R) are true.

Assertion (A) : Breast milk s
nutritionally ‘tailor made’ for
infants.

Reason (R) : Breast milk contains
the bifidus factor which
promotes the growth of
lactobacilli and inhibits the
growth of E.Coli.

Codes :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are false.

(C) (A) istrue but (R) is false.

(D) (A) is false but (R) is true.

Assertion (A) : A purchase order is a
list of items given to the supplier.

Reason (R) : It is based on the
layout prospectus developed in
the food service unit.

Codes :

(A) Both (A) and (R) are correct.

(B) (A) is false but (R) is true.

(C) (A) is true but (R) is false.

(D) Both (A) and (R) are false.

Assertion (A) : People choose to
dress in the style that makes a

statement about their
personalities.
Reason (R) : As per their wish to be

perceived by the outside society.
Codes :
(A) (A) is correct, but (R) is wrong.
(B) (A) is wrong, but (R) is correct.
(C) Both (A) and (R) are correct.
(D) Both (A) and (R) are wrong.

Paper-I1

25.

26.

27.

28.

Assertion (A) : Velvet is delivered
on specially constructed frames.

Reason (R) : It prevents the pile
from getting crushed.

Codes :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are incorrect.

(C) (A)iscorrect but (R) is incorrect.

(D) (R)is correct but (A) is incorrect.

Assertion (A) : Proper placement of
cooking,  preparation  and
washing areas (centres)
minimize the cost of operation.

Reason (R) : Existence of
cooking, washing and
preparation areas close to each
other reduces excessive walk
and time taken in operation.

Codes :

(A) (A) is false, but (R) is true.

(B) (A)is true, but (R) is false.

(C) Both (A) and (R) are true.

(D) Both (A) and (R) are false.

Assertion (A) : Prematures tend to
make good social adjustments
throughout life than those born
at full term.

Reason (R) : The parental over
protectiveness adversely affects
their behavioural response.

Codes :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are wrong.

(C) (A) is correct but (R) is wrong.

(D) (A) iswrong but (R) is correct.

Assertion (A) : Senses  are  the
gateways to learning.

Reason (R) : Learning activities
should engage a maximum
number of senses by using
audio-visual aids.

Codes :

(A) (A)is correct, (R) is wrong.

(B) (A)is correct, (R) is correct.

(©) (A)isnot correct, (R) is correct.

(D) (A) and (R) are not correct.
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29.

30.

31.

Assertion (A) : Newspaper is a print
media. It is one of the mass

media.

Reason (R) : All mass media are
print media.

Codes :

(A) Both (A) and (R) are true.

(B) (A) is true, but (R) is false.
(C) Both (A) and (R) are false.
(D) (A) is false, but (R) is true.

Assertion (A) : Test retest is the
method wused to test the
reliability of the measurement
instrument.

Reason (R) : The  measurement
instrument to collect data
should have both reliability &
validity.

Codes :

(A) (A)istrue, but (R) is false.

(B) Both (A) and (R) are false.

(C) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(D) (A) is false but (R) is true.

Write the steps involved in cheese
preparation in the correct sequence :

l. Addition of enzyme

I1.  Curd cutting and cooking

1. Acidification of milk

IV. Curd draining and cheddaring
V. Pasteurization of milk

VI. Salting and pressing

VII. Ripening

Codes :

(A) LIV, Vil LV, VI
(B) V, UL LIV, VI VI
C©) L LvLV, VI IV

(D) LIV, 1LV, VL VI
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32.

33.

34.

Give the sequential order of the
symptoms of vitamin A deficiency.

l. Night Blindness
Il.  Keratinization
I1l.  Xerophthalmia
IV. Keratomalacia

Codes :

(A) 1111V
B) L 1,1V, 1
C) LI,V
(D) 1LV,

Give the procedure for hiring an
employee in the right sequence :

l. Advertisement

Il. Interview

I11.  Medical examination

IV. Screening of applications
V.  Verification of reference
VI. Testing skills

Codes :

(A) 1, 0LV, LIV, VI
(B) I, IV, VLIV, 1
C) IV, IV, VLI
(D) VI ILILV, IV, I

Give the correct sequence of work

that goes in the cutting room of the

garment industry.

l. Spreading the fabric to form a
lay.

Il.  Cutting the fabric

I1l.  Planning and reproduction of
marker.

IV. Bundling of cutwork for the
sewing room.

Codes :

(A) UL 1LV
B) LI,V
(C) 1L LIV, I
(D) IV, I 1L
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V. <Y H g
V1. Tl 1 ILETor
FT

(A) 1LV, LIV, VI
(B) I, IV, VLIV, 1
(C) IV, IV, VI, I, I
(D) VI, I, 1LV, IV, I

T I & Fee oI H HE H T
3R ST |

. HUE H A TH F AT HeArr
Il.  US H He

1], AR T A q4T =

IV. foaE &1 & folT < g0 o &
g ST

(A 111V
B) 1,11, 1, 1V
(C) 1L 1V,
O VALNIN
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35.

36.

37.

Give the correct sequence in the
processing of textiles :

(@) Singeing

(b)  Scouring

(c) Bleaching

(d) Designing

(e) Mercerization
Codes :

(A) (b), (), (). (). (d)
(B) (a), (d), (b), (c). (&)
(C) (@), (), (b), (d), (c)
(D) (d), (). (a), (e), (b)

The sequential order of financial
management is

I.  Analyse financial resources

Il. Prioritize goals and set
standards

I1l. Make a budget to control
spending and saving.

IV. Establish systematic financial
management practices.

Codes :

(A) IV, L1
(B) I, 1,1V, 1
©) LIV
(D) 11, I, 1V, |

Give the correct sequence of stages
of human development considering
the chronological age :

l. Toddler

Il.  Early adolescence
I1l. Infant

IV. Youth

V. Teenager

Codes :

(A LHUL IV, V, I
B) HIL LIV, IV
©) muLv, LV
(D) V, LIl 1V

Paper-I1
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38.

39.

40.

Arrange in sequence the year of
recommendation for Non-formal
education in different commission
and policies.

l. National Policy on Education
Il.  Kothari Commission
I1l.  National Education Policy

IV. New National Policy on
Education

Codes :

(A) L LV

B) LIV

C) uni L

(D) LU

Give the correct sequence of the
procedure to be adopted in
organising audio-visual programme :
l. Planning

Il.  Presentation

I11.  Follow-up

IV. Preparation

Codes :

(A) L1V, I

(B) 1,1V, 11, 1

C) 1V, 1 I I

(D) I, IV, 11, |

Arrange the following steps of
Research in the correct sequence :

l. Review of Literature
Il. Rationale

I1l.  Objectives

IV. Methodology

V. Interpretation

V1. Results

Codes :

(A) 11111V, VIV
(B) L 1L 11V, VIV
(C) NI L1, 1V, V, VI
(D) I, LHLIV,V, VI
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35. S i UfHATSTT T TE ST I ;

36.

37.

(a) oA

(b) HIRT

(c) sefifemT

(d) SR

(e) TRERTESITH

T

(A) (b), (a), (e), (c), (d)
(B) (a), (d), (b), (c), (e)
(C) (a), (e), (b), (d), (c)
(D) (@), (c), (a), (e), (b)

foriia W =1 el s &

I.  foxi Eidt 1 fageroon

1. <& T AT T qFe Sg
T |

. @9 R s=d & Eta &=+ &
T 5t 99T |

V. aiFEg fade aert s e
T |

%

INEVANIN

(B) I, 1,1V, Il

C) 11,1, 1V

) 1, 1, 1V, |

3 & HITHH &l & § T&d §¢ g
TorhTT 7 STarRTe I el A JISTT
.  <eeR

I, URNYe foRemRmen

. g

V. Far

V. 2 dAgE

(A) 1111V, VI
B) I, 1,11V, IV
C) 1L 1LV, LIV
(D) V, 111,11, 1V

11

38.

39.

40.

A Ao forem et fafie=r st
3R Aifqar & FawIRe & a9 & uR
W e S § T

I forem =t g it

II. SRR =T

1. e forer =Aifa

V. =& g frer it

HT

(A) 1L 11V

B) 11, I, 1V

©) HLIL LIV

(D) I, 1L, 11,1V

HeAEYT HEHA % AESH H IFIAE
M et FEfa % T HH w1 TE
H

. S

. wEf

I, ST (RictaT)

V. =t

Fe !

(A) 1111V, I

B) 1,1V, 11, 1

C) v, LI

(D) HILIV, 1,

fr=ferfaa sius™ & FiomT o @@ e
T fafan :

| wfec = gRieTo

[I. TRER

. ==

V. =@ Yygia

V. AT

VI. uRomm

(A) 111 IV, VIV
(B) 1,11, 11,1V, VI, V

C) L1, 1,1V, V, VI
(D) 11,1, 11,1V, V, VI
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41.

42.

43.

Match the foods in List — | to the
colour pigment in List — 11 :

List -1 List—11
(Foods) (Colour pigment)
a. Carrot I. Anthocyanins
b. Beet root ii. Anthoxanthins
c. Plums iii. Carotenoids
d. Cauliflower iv. Betalains
e. Broccoli v. Chlorophylls
Codes :

a b c d e
(A) i Y, iii iv i
(B) iv i ii Y, iii
C) i iii ii Y, iv
(D) iii iv i i v
Match the foods in List — I with its
rich nutrients in List — Il :

List—1 List—11

(Foods) (Nutrients)
a. Papaya i. lIron
b. Orange ii. Calcium
c. Dates ii. Vit. C
d. Ragi iv. Vit. A

v. Vit. By,
Codes :
a b C d

(A) v ii iii iv
(B) ii i v i
(C) iv i [ ii

(D) iii ii % i
Match the items given in List — | with
List—11:

List—1 List— 11
a. MBO I. Sanitation
b. CCP ii. Management
c. Perpetual iii. Storage

Inventory
d. Alacarte iv. Menu
e. Specification v. Purchase

vi. Sales

Codes :

a b c d e
(A) i i iii iv v
B) i ii iv V. Vi
C) i i iv iii Y,
(D) i i i iv i

Paper-I1
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44,

45,

46.

Match the items given in List — | with
their descriptions given in List — II.

List -1 List—11
a. Godet i. Piece attached at
sleeve
b. Gusset ii. Short flare attached
to the waist of a
garment
c. Peplum iii. Triangular  piece
attached at the
hemline
d. Gores Iv. Panels in a garment
Codes :
a b c d
A i i iii \Y

(B) ii iv i iii
(C) iii i i iv
(D) ii i v i
Match the equipment given in List — |
with the end products for which they
are used given in List — 11 :

List—1 List— 11
a. Pad steamrange i. Fibre andyarn
b. Crimp tester  ii. Dyeing

c. Air permeability iii. Yarn
d. Hairiness meter iv. Fabric

Codes :

a b c d
(A) i i iii \Y
(B) iii iv i i

(C) ii i iv iii
(D) iv iii i i
Match List — | with List — 11

List—1 List— 11
a. Physiological i. Freedom
needs from fear
b. Safety needs ii. Food & Shelter
c. Social needs iii. Self-respect
d. Esteem needs iv. Social
interaction

e. Self-
actualization

v. Self-discipline

vi. Self-conscious
Codes :

a b c d e
(A) i iii Vi iv v
(B) i i iv iii v
C) i \Y i iii Y,
(D) iv iii ii i Y,

J-

12-13
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fore T &1 g © e T foeroT ¥ e &Y |
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a. TR i R )
b. THR i, e b. /e i, FW W [T TH H
C. 3] gE@RT iii. BRIEES BT FATR
d. perm iv. SeTeT| C. UTTTH i o W TRET W S
e. B V. FARGT feIAT et
(STehTT) d. ™ iv. % § fgoer T
B FH
" a b ¢ d e S a b ¢ d
é v v (A) i i i v
& b it i v v () i v i il
D) i v i iV &C))) e Lo
A i I IR (Y AR
= - | aft -1 3“*“%23@@@@%1;3%@
- A Tt | =it-11
R e
s i b. forwr Zxex ii. Tmg
d. Im iv..fa‘c"rﬁﬂq d. TRFEEHRT v, T (%)
- FT
_— v iz a b ¢ d
5T - A o ¢
Wb R @ w0
A SR
(D) iii i v i 46. A — | B A — || T GATAT BT
. _ ) w owget w g - 1R it - | T -1
43 ?ﬁwzl - il a. YRING TERIHA i, T | o
TR - | Tt — 11 b. 0T ETEHA i A R
a. THEL. i, e c. W i, T
b. =, i, e SEREDR _
c. Freae atas il dweor d. T STERIHAT iV, QIS
d. T3 F iv. J ey
o R BT v, werd e. W-HEAFIIT V. T SR
VI%@F& VI.~3:|('1:|%|(_‘|:|
. %
*e a b c d e a b c d e
(A i i i vV (A) it diivi v
B8 1 Qi vov v B) i i ivoiiiv
(Q i i v il v C) i v i i v
(D) i i ii iv il (D) iv i ii i Vv
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47.
List — 1|
a. Over-

protectiveness
b. Permissiveness ii. Over

dependency

c. Rejection iii. Confident

d. Acceptance iv. Irresponsible
v. Inferior

Codes :

a b c d

(A) v i ii iii

(B) ii 0\ i iii

(C) il ii iv %

(D) v i iv ii

48. Match the concepts related to
extension in List — | with their

meaning given in List — 11

List— 1| List— 11

a. Motivation i. A desire on the
part of an
individual to
learn.

b. Learning ii. An inner state
that  energizes,
activates or
moves and directs
human behaviour
towards goals.

c. Need iii. It is a process by
which a person
becomes
changed in his
behaviour
through self-
activity.

d. Interest iv. A gap between
‘what is” and
‘what ought to
be’.

Codes :

a b C d

(A) il iv ii i

(B) iv i [ ii

(C) ii i iv i

D) i ii iv I

Paper-I1

Match List — I correctly with List— 11 :

List— 11
i. Aggressiveness

49,

50.

14

Match the items given in List — | with

List—11
List—1
a. Overhead
Projector
b. LCD
Projector
c. Slide
Projector
d. Motion
Picture
Projector

List - 11
i. Slides

ii. Films
iii. Flannel

iv. Transparency
Sheet

v. Power Point

Codes :

a b
(A) v v
(B) iii i
(C) ii v
(D) i i

Match the items
List - 11

List—1
a. Median I

b. Wilcoxon .
Test

c. Symmetric iii
distribution

d. Tukey’s iv.

HSD

<

e. Typel
Error

Vi.

Codes :

A) v i
(B) v i
©€) i i
D) v i

_— -0
<

iv \Y
in List — | with

List— 11
Post hoe
comparison
Arithmetic
average of
distribution

. Non-parametric

Test

Mean and
Median are of
equal value
Mid way point
between top
and bottom
halves of
distribution
H, is falsely
rejected
c d e
ii i v
\% i Vi
\Y i Vi
iv i i
J-12-13



49.

50.

47. A — B GA — || F GATAT T
=t - | = -1
a. o1fq MRS i,  STHHAUNCTAT
b. SRR Q. 3T ST
c. aAptd iii. forverea
d. @i iv. SRR
v. fge
He
a b c d
(A) v 0 Qi i
B) i iv i il
(C) iii i v \Y;
(D) v i iv i
48. gEr - | R GA — || § et & foar
Y grEfud <1 TS STTURUNST B 3T
31l § gAfed HIfT
=t - | =t - 11
a. 3RO i T A W
3T & Ul T
i &l =
b. 3Ty ii. T 3= ofael
() ST AFEE IR
v,  Topamene,
Teier R e
H Wi H TSI
e € |
C. TEYTHAT  iii. TP UihAT 59 &
I Ush AT
@ fear 9 et
ZEER | uREdT
AE |
d. s iv. ‘T & S T
T AT o &
T IR
He
a b c d
(A) il \Y i i
B) iv i i i
C©) i i v i
D) i i v i
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Al — | & AR gE — 1w e
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a b c d
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€ i v i i
D) i i v v
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a. Hifeas i, TChROTE o
(wferehn)
b. ot ii. faavor @
= Tt G
c. TutHd faawor iii. TR urafeies e
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Vi. I e H,)
T 9 TR
ST |
FH
a b c d e
(A v i i i i
B) v i v i Vi
€ i i v i i
D) v i v i Vi
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